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List of 50 Practice Reasoning Questions from Table Puzzle:

Direction (Q. 1-5): Study the following information carefully and answer the given questions:
Eight Friends A, B, C, D, E, F, G and H are sitting around a circle facing the centre, but not
necessarily in the same order. There are two females members in the group.

C sits third to the left of A and second to the right of E, who is not a male member. B is second
to the right of C. D is second to the right of G, who is second to the right of A. There are three

members between two female members. F is not on immediate right of C.

1).Who among the following sits on the immediate right of C?
a) G
b) H
c) B
d) D
e) None of these
2).Which of the following pairs are immediate neighbors of H?
a) CB
b) E,C
c) AG
d) F,B
e) None of these
3).Which of the following pairs represents female members?
a) AE
b) D,B
c) F,.C
d) B,E
e) None of these
4).Who among the following is sitting opposite to A?
a) C
b) E
c) D
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d F
e) None of these
5).Who among the following is third to the right of B?
a) D
b) E
c) G
d F

e) None of these

Answers:
1).b) 2).a) 3).d) 4).c) 5).c)

Directions (Q. 6-10): Study the following information carefully and answer the questions given
below:

S, T,V,W, X, Y and Z are sitting around a circular table, facing the centre. Y is not second to
the left of X and X is not an immediate neighbor of W. V is third to the right of Z. W is second to

the left of Z. T is not an immediate neighbor of either W or Z.

6).Who is second to the right of S?
a) Z
b) T
c) V
d) X

e) None of these

7).Which of the following pairs are immediate neighbors of Z ?
a) TV
b) V,X
c) YW
d) S,X

e) None of these
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8).What is the position of X with respect to W?
a) Third to the left
b) Second to the right
c) Third to the right
d) Second to the left

e) None of these

9).Who is on the immediate right of T?
a) Vv
b) X
c) Z
d Y
e) W

10).How many persons are sitting between X and Y when counted in ACW (Anti Clock Wise)
direction from X?

a) Two

b) Three

c) Four

d) None

e) None of these

Answers:
6).d) 7).d) 8).c) 9).a) 10).a)

Directions (Q. 11-15): Study the following information carefully and answer the given
questions:

A, B, C,D, E, F, G, Hand | are sitting around a circular table facing centre, B is fourth to the
left of G, Who is second to the right of C. F is fourth to the right of C and is second to the left of
l. D is not an immediate neighbor of either | or B. A is not the neighbor of F. H is third to the
right of E.
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11).Who among the following is second to the right of |?
a) C
b) E
c) H
d F

e) None of these

12).Who is sitting third to the right of the one who is sitting second to the right of A?
a) D
b) C
c) |
d) H

e) None of these

13).How many persons are sitting between H and D, if counted ACW from D?
a) One
b) Two
c) Three
d) Four

e) None of these

14).What is the position of A with respect to H?
a) Second to the right
b) Third to the left
c) Second to the left
d) Fifth to the right

e) None of these

15).Who sits third to the left of E?
a) A
b) G
c) H

For More SBI PO Exam Study Materials Visit: www.ibpsguide.com Page 4




www.ibpsguide.com

d) C

e) None of these

Answers:
11).c) 12).c) 13).d) 14).a) 15).b)

Directions (Q. 16 — 20): Study the following information carefully and answer the questions
given below:

A, B, C, D, E, F, G and H are eight cricketers sitting around a circular table. Two of them are
not facing the centre. E is third to the right of F. There are three persons sitting between A
and D. Ais not facing the centre. B sits second to right of A but is not the immediate neighbor
of H. C sits on the immediate left of F. D is not an immediate of H. C sits on the immediate

left of F. D is not an immediate neighbor of either F or E.

16).Who among the following sits on the immediate right of D?
a) H
b) G
c) B
d) C

e) None of these

17).Who among the following sits third to the left of the one who is on the immediate right of
G?

a) C

b) D

c) A

d F

e) None of these

18).How many persons are there between C and E?
a) Four
b) Two
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c) Three
d) One

e) None of these

19).What id D’s position with respect to F?
a) Immediate right
b) Second to the right
c) Third to the right
d) Second to the left

e) None of these

20).Four of the following five are alike in a certain way based on their sitting positions in the
above arrangement and so form a group. Which of following does not belong to that group?
a) D,H
b) H, E
c) A F
d C,G
e) G,B

Answers:
16). b) 17).a) 18).c) 19).d) 20).c)

Directions (Question.21-27): Study the following information carefully and answer the given
questions.

A,B,C,D,E,F,G and H are sitting around a square table in such a way that four of them sit
at at four corners of the square while four sit in the middle of each of the four sides. The ones
who sit at the four concerns face the centre of the table while those who sit in the middle of the
sides face outside. Each of them likes a different subject, viz Mathematics, Hindi, English,
Biology, Chemistry, Physics, History and Geography. (None of the information given is

necessarily in the same order.)
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C sits third to the left of the one who likes Geography. The one who likes Geography faces
outside. Only two persons sit between C and H.

The one who likes Mathematics sits on the immediate right of H. The one who likes Chemistry
sits second to the right of G.G is neither an immediate neighbor of H nor of C.G does not like
Geography.

Only one person sits between A and the one who likes Chemistry.

D sits on the immediate left of the one who likes Physics. G does not like Physics.

E likes History. E is not an immediate neighbor of A.

The one who likes Hindi is an immediate neighbor of E.

The one who likes Biology is an immediate neighbor of F.

21).Who among the following sits diagonally opposite the one who likes Mathematics?
a) The one who likes Hindi
b) D
c) A
d) The one who likes English

e) The one who likes Biology

22). who among the following represents the immediate neighbors of the one who likes
Chemistry?

a) BF

b) CE

c) B,E

d) D,H

e) F,H

23).Who among the following sits exactly between H and B?
a) C
b) The one who likes Hindi

c) The one who likes English
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d) G
e) A

24). which of the following is true regarding B?
a) B is one of the immediate neighbors of D
b) The one who likes Geography is an immediate neighbor of B
c) B sits second to the left of H
d) B likes History

e) B is an immediate neighbor of the one who likes Mathematics

25).What is the position of the one who likes Physics with respect to G?
a) Second to the left
b) Third to the right
c) Fourth to the left
d) Second to the right
e) Third to the left

26).Which of the following subjects does D like?
a) Biology
b) Mathematics
c) Hindi
d) Chemistry
e) English

27). who among the following like Geography?
a) B
b) F
c) H
d) A
e) D
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Directions (Question.28-30): Read the following information and the sentences
(A),(B),(C),(D),(E) and (F) given below it carefully and answer the questions.

Scientists are worried that using very high concentration of repellants, a fogging agent is
rendering mosquitoes more and more resistant. This is making the repellant ineffective over

time.

(A) Resistance development among mosquitoes are higher than all other inscets. This shows
that mosquitoes are more adaptive than other insects.

(B) If the increase in concentration of repellent does not stop, it would end up becoming so
toxic that it would endanger the health of humans as well as the ecosystem as a whole.

(C) In places where increased concentration mosquito repellents are used, mosquito control is
more effective than in other areas.

(D) While regular —concentration mosquito repellent must be sold at a subsidized price on
government orders, the one with high concentration only helps make good profits.

(E) The government should make a policy regarding the limits to concentration of mosquito
repellents and ensure its strict implementation.

(F) Development of resistance against repellent drugs is naturally present in mosquitoes and

does not depend on the amount of repellent used.

28).Which of the given statements weakens the given information?
a) A
b) D
c) E
d) B
e) F

29).The development of resistance amongst mosquitoes may be purposefully done by the
mosquito-repellent-producing companies.-An industry expert which of the given
statements substantiates the expert's comment?

a) BothCand D

b) Only C
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c) Only B
d) Only D
e) Only A

30).Which of the following represents a consequence of the increased concentration of
repellents?

a) F

b) D

c) A

d B

e) C

Answers:

21).a) 22).c) 23).e) 24).e) 25).e) 26).a) 27).b) 28).e) 29).a) 30).d)

Directions (Questions .31-35): Study the following information carefully and answer the
questions given below:

There are eight family members [, J, K, L, M, N, O and P sitting around a circular table
facing the centre but not necessarily in the same order. There are equal number of males and
females in the family. | and L are males. J is fourth to the right of his father |, who is son of K,
who has two children.P is not the wife of I. No male is a neighbour of J.Granfather is an
immediate neighbor of his son. Grandson is on immediate left of his wife N, and sits on the
immediate right of his grandfather. The wife of | sits fourth to the right of her father — in- law.

There is only one person between the wife of | and O, who is wife of J.

31).How is P related to I?
a) Sister
b) Wife
c) Mother
d) Daughter

e) None of these
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32). who among the following sits third to the left of K?
a) Grandson of K
b) Daughter of K
c) Son of K
d) Daughter —in- law of K

e) Can’t be determined

33).Who among the following is mother of L and J?
a) O
b) P
c) M
d) Can’t be determined

e) None of these

34).How many persons are there between | and his wife (if counted from the left of I)?
a) Three
b) Two
c) One
d) Four

e) None of these

35).How is N related to O?
a) Daughter
b) Sister
c) Mother
d) Sister-in-law

e) Can’t be determined

Answers:
31).a) 32).b) 33).c) 34).b) 35).d)
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Directions (Questions.36-40): Study the following information carefully and answer the

questions given below:

L, M, N, O, P, Q, Rand S are sitting around a circular table, facing the centre but not
necessarily in the same order. M is not an immediate neighbor of S or N. N is third to the left of
S, who is on the immediate right of P. O is not the neighbor of M but second to the left of Q,
who is not third to the left of R.

36).Who among the following is second to the right of P?
a) R
b) L
c) O
d M

e) None of these

37).In which of the following pairs is the second person not sitting on the immediate left of the
first person?

a) ML

b) SP

c) QN

d) RO

e) RM

38).What is the position of M with respect to O?
a) Second to the right
b) Fourth to the left
c) Third to the right
d) Can’t be determined

e) None of these

39).Who among the following is an immediate neighbor of L and R?
a) M
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b) N
c) O
d) P

e) None of these

40).Who among the following is opposite S?
a) Q
b) N
c) O
d) R

e) None of these

Answers:
36).b) 37).d) 38).e) 39).a) 40).c)

Directions (Questions.41-45): Study the following information carefully and answer the
questions given below:

S, T,U,V,W, X, Y and Z are sitting in a circle, but not facing the centre. U is third to the
right of Y. Z is not the neighbor of either Y or U. X is fourth to the left of Z. V is third to the right
of W, who is not the neighbor of X, who is not the neighbor of Y.

41).In which of the following pairs is the second person on the immediate right of the first
person?

a) V,Z

b) U, W

c) Y, X

d) X, W

e) None of these

42).Who among the following is second to the left of V?
a) S
b) X
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c) W
d) EitherSorT

e) None of these

43).I1f Y is an immediate neighbor of T, who among the following sits between Z and W?
a) S
b) Y
c) U
d) X

e) None of these

44). Who among the following sits between X and Y?
a) S
b) T
c) W
d) Can’t be determined

e) None of these

45).Who among the following sits third to the right of U?
a) T
b) Y
c) Z
d) S

e) None of these

Answers:
41).b) 42).d) 43).a) 44).d) 45).c)

Directions (Questions.46-50): Study the following information carefully and answer the
questions given below:
Eight friends I, J, K, L, M, N, O, P and Q were sitting around a circular table in a restaurant

for dinner but not necessarily in the same order. Each of them ordered a different type of food,
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viz Shahi Paneer, Mix Veg, Mushroom, Dosa, Egg Roll, Matar Paneer, Paneer Chilli and
Manchurian but not necessarily in the same order.

K ordered Paneer Chilli and sat third to the left of M. The persons who ordered Matar
Paneer and Dosa were immediate neighbors of each other but both of them were not the
neighbors of each other but both of them were not the neighbors of either M or K. The persons
who ordered Mix Veg and Manchurian were immediate neighbors of each other. Neither M nor
L ordered Manchurian. The one who ordered Dosa sat to the left of J, who ordered Mushroom.
| ordered Mix Veg but he was not an immediate neighbor of the person who ordered Dosa and

Shahi Paneer respectively. P sits third to the left of the person who ordered Manchurian.

46).Who among the following sits exactly between Q and J?
a) The one who orders Matar Paneer
b) The one who orders Egg Roll
c) The one who orders Panner Chilli
d) Can’t be determined

e) None of these

47).Who among the following orders Egg Roll?
a) K
b) M
c) Q
d) N

e) None of these

48).How many persons sit between the person, who orders Paneer Chilli and L?
a) Four
b) One
c) Two
d) Three

e) None of these
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49).Which of the following pairs represents the immediate neighbors of the one who orders Mix
Veg?

a) QM

b) N, P

c) M,L

d) K, Q

e) None of these

50).’P’ orders which of the following foods?
a) Shahi Paneer
b) Egg Roll
c) Dosa
d) Can’t be determined

e) None of these

Answers:
46).c) 47).b) 48).d) 49).a) 50).c)
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